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Figure	
  4.	
  Conservative	
  lead	
  over	
  Labour	
  (%	
  for	
  Great	
  Britain),	
  estimated	
  from	
  nine	
  final	
  polls,	
  separately	
  by	
  categories	
  of	
  some	
  weighting	
  variables	
  (clockwise	
  from	
  top	
  left:	
  
gender,	
  age	
  group,	
  region,	
  and	
  party	
  vote	
  in	
  the	
  2010	
  general	
  election).	
  	
  	
  	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   	
  

	
  	
  	
  	
   	
  

Dark	
  red	
  line:	
  Average	
  of	
  the	
  polls;	
  Gold:	
  Estimate	
  from	
  combined	
  BES/BSA	
  sample,	
  with	
  95%	
  confidence	
  intervals	
  (2010	
  vote	
  from	
  BES	
  only);	
  Green:	
  2015	
  election	
  result.	
  In	
  
the	
  plot	
  for	
  the	
  2010	
  vote,	
  the	
  vertical	
  axis	
  is	
  centered	
  so	
  that	
  0	
  represents	
  the	
  difference	
  in	
  the	
  BES	
  (which	
  is	
  shown	
  on	
  the	
  horizontal	
  axis;	
  for	
  example,	
  among	
  those	
  who	
  
reported	
  voting	
  Conservative	
  in	
  2010,	
  the	
  Con-­‐Lab	
  difference	
  in	
  the	
  BES	
  was	
  +82%)	
  	
  


